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QUESTION 1

How many drive bays does a DS4246 shelf have?
A. 42

B. 12

C. 46

D. 24

Correct Answer: D Section: (none)

Reference: https://www.insight.com/en_US/shop/product/DS4246074812AQSR6/NETAPP/DS4246-074812A-QS-
R6/NetAppStorageShelfDS4246-Storageenclosure-24bays(SAS-2)-HDD4TBx12-rack-mountable4U/

QUESTION 2

On an AFF system, which three storage efficiencies are enabled by default? (Choose three.)
A. reallocation

B. compaction

C. deduplication

D. compression

E. encryption

Correct Answer: BCD Section: (none)

Reference: https://docs.netapp.com/ontap-9/index.jsp?topic=%2Fcom.netapp.doc.dot-cm-
vsmg%2FGUIDC1E3029E-1514-4579-939B-67160E849632.html

QUESTION 3

Your customer\\'s MetroCluster has generated a "DISK REDUNDANCY FAILED" message.

Netapp-EmA:

Tue Jan 14 04:12:12 CET [netapp-EmA:cf.rv.notConnected:error]: HA interconnect: Connection for \\'cfo_rv\\
failed.

Tue Jan 14 04:12:13 CET [netapp-EmA:rv.connection.torndown:info]: HA interconnect: cfo_rv1 is torn

down on NIC 1.

Tue Jan 14 04:12:13 CET [netapp-EmA:cf.rv.notConnected:error]: HA interconnect: Connection for
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\\'cfo_rv\\'1 failed.

Tue Jan 14 04:12:15 CET [netapp-EmA:rv.connection.torndown:info]: HA interconnect: cfo_rv2 is torn

down on NIC 1.

Tue Jan 14 04:12:18 CET [netapp-EmA:cf.rv.notConnected:error]: HA interconnect: Connection for

\\'cfo_rv\\'2 failed. Tue Jan 14 04:12:19 CET [netapp-EmA:bridge.removed:info]: FC-to_SAS bridge siteB_2:13.126L0
[ATTO FibreBridge6500N 1.61] S/N [FB7500N111161] was removed Tue Jan 14 04:12:19 CET
[netappEmA:bridge.removed:info]: FC-to_SAS bridge siteB_2:5.126L0 [ATTO FibreBridge6500N 1.61] S/N
[FB7500N111160] was removed

Netapp-EmB: Tue Jan 14 04:12:12 CET [netapp-EmB:cf.rv.notConnected:error]: HA interconnect: Connection for
\V'cfo_rv\\' failed. Tue Jan 14 04:12:12 CET [netapp-EmB:rv.connection.torndown:info]: HA interconnect: cfo_rv2 is torn
down on NIC 1. Tue Jan 14 04:12:13 CET [netapp-EmB:rv.connection.torndown:info]: HA interconnect: cfo_rv1 is torn
down on NIC 1. Tue Jan 14 04:12:13 CET [netapp-EmB:cf.rv.notConnected:error]: HA interconnect: Connection for
\\'cfo_rv\\'1 failed. Tue Jan 14 04:12:18 CET [netapp-EmB:cf.rv.notConnected:error]: HA interconnect: Connection for
\\'cfo_rv\\'2 failed. Tue Jan 14 04:12:19 CET [netapp-EmB:bridge.removed:info]: FC-to_SAS bridge siteA_2:13.126L0
[ATTO FibreBridge6500N 1.61] S/N [FB7500N111167] was removed Tue Jan 14 04:12:19 CET
[netappEmB:bridge.removed:info]: FC-to_SAS bridge siteA_2:5.126L0 [ATTO FibreBridge6500N 1.61] S/N
[FB7500N111164] was removed

Referring to the messages shown in the exhibit for each node, which component is causing the problem?

A. the ATTO bridge on siteB_2

B. the SAN switch siteA 2

C. the SAN switch siteB_2

D. the ISL between siteA and site B

Correct Answer: D Section: (none)

QUESTION 4

A customer is showing disk utilization is at 100% in Active IQ even though there are low protocol operations on the
controller. You review the data shown in the exhibit.
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In this situation, what should you do?

A. Replace disks 6b.34 and 6a.19.

B. Add disks to the aggregate to bring down the average utilization.
C. Replace disk 6b.39.

D. Reseat shelf module B.

Correct Answer: C Section: (none)

QUESTION 5

Which CIFS server configuration determines the domain controllers that a CIFS server uses?
A. site membership

B. enabled SMB versions

C. trusted domains

D. discovery mode

Correct Answer: A Section: (none)
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